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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.

AlC 0 AT U UF T (80) 3l T I fF (03) WUSH
‘@, @ T U H fowia g1 Rl @1 g
guel # fay MU fOwga Feel & o aR & WAl @
ST o B

Section-A / GUls—d

(Long Answer Type Questions) / (€78 I<II T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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L Gug ‘P H AR (04) < ST T R W E|
TAe WH @ foly SN (19) o fEiRT g
el & 371 | ®ad I (02) YAl & SR o
gl

Define the concept of Sanskritization and explain the

changes taking place in Indian social system through
the process of Sanskritization.

TERMAPRY B JGURVT HI GRATNT BIY 3R
RGBT &1 UG & RT ARAIT AHINTD  Fawell
# S B %2 uRadHl @) e BT |

Explain the chief characteristics and types of kinship
system in India.

URA ¥ AR gaeel &1 F faRIvamell vd GaHRi &l
W BT |

Write an essay on ‘The Impact of Globalization on
Indian Society’.

JIdIHROT BT URA AN W Y9I’ W Uh A9+
o EQ |
What are the characteristics of social stratification ?

Describe the necessity and importance of social
stratification.

AMITD TR &I fAUyde w1 & 7 qHie
TRIBROT Bl JAIIIhdl UG H8cd Pl Ui BTy |
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Section-B / Yis—4

(Short Answer Type Questions) / (e ITRII Je)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

dlc . @ue @ H IS (08) @Y SR W A W 2
TAG Y b fIU e (08) ofp fwiRd
IR a1 374 ¥ dad IR (04) YAl & IR o
g |

1. Different forms of Social Change.

ARG gRac & fafi= W%y |

2. Distinguish between Nuclear and Joint Family.
TH! T4 Wga URIR H IR e HIFY |

3. What do you mean by religious diversity in Indian
Society ?

IRAT e § enfie faf=idr & 3y o7 99e § ?

4. Consequences of Secularization.

eAFRUENERY & TR |

5. Importance of culture in Indian society.
R FAIGT H G¥Bfd @7 A8 |

6. Objectives of Hindu Marriage.
=g fdare & Sew |

7. Changing forms of caste system.
T SRRl & dqeld Wy |
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Problems related to Scheduled Tribes.
FIGfaT STl & g T |
Section-C / GUs—TT
(Objective Type Questions) / (@S J)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T ¥ g9 (10) TRS WA [ W 2| IS
g @ forv e (01) oiF FEiRa 2 3@ wve &
T oo arfeare € |

Indicate whether the following statements are True or False :

g ifsre o f=ferRad M 9 § a1 o

1.
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Membership of caste is Hereditary. (True/False)

S @) AT A el R | (§ / 3r9)

Culture is the man made part of the environment.

(True/False)
Rl gataRe &1 Aea (AT A R (T /)
Class system is a closed stratification. (True/False)
T FaRAT VP gva GBI ¢ | (A / )

Gender is an example of achieved status. (True/False)

SoeR (fof) ot uReIfer &1 ST 3| (/1T / 31Tcd)

Mutah marriage is the type of Hindu marriage.
(True/False)

e fdarg, fowg faae &1 U@ UaR 2| (9 /)
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Match the following :

e o gferd R

6. Human Society @)
USRS

7. Marriage and Family in India  (b)
AR U8 el 37 3fsan

8.  Caste, class and occupation (c)
PIRC, T TS ST

9.  Social Change in Modern India  (d)
RIS ool 39 Al givedr

10. Principles of Sociology (e)
MRed e ARl
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